Maths Investigation Menu[bookmark: _GoBack]Imagine your family agreed to give you some pocket money every day for a month! You can choose from the following options:

1. £10 every day
2. £3 on the first day, £3.50 on the second, £4 on the third, and so on, increasing by 50p per day
3. 1p on the first day, 2p on the second, 4p on the third, and so on, doubling each day.
Which option would you choose, and why?


Ben has 5 different coins in his pocket. What is the smallest amount he could have? What is the largest? 



Ben and Jamzee want to buy a chocolate bar.
Ben needs 2p more and Jamzee needs 50p more to buy it.
When they put their money together, it is still not enough to pay for the chocolate bar.
How much is the chocolate bar?
 
How much is the chocolate bar?

On my calculator I divided one whole number by another whole number and got the answer 3.25 
I know that both numbers were less than 50, but can’t remember what they were. There’s more than one possibility!
Senorita H divided 15 pennies between 4 small bags 
She labelled each bag with the number of pennies inside it. 
She could then pay any sum of money from 1p to 15p without opening any bag. 
How many pennies did Senorita H put in each bag? 
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